EEAREIHLzs AN (7)) BIRAE]

& o

’”F m F M
W/

>>>> &) Bifliik /13382512229 [ AR RBEEFHE-LE T EXEHE

WINLINK
— BEKM —




Y. (—
— EBEHN —

H 3% conTENT

BEAEXEEEHHE

XF3A]

B HEARRE B HEEEXEE
B FHEEXEE B FiEEEIETk
e o i o . _ N . B ERR% B SHEH
EEARH AT ARBIRAR E—xRK T W& FlEREN I .
BAEBEZBRGREN, AT TFEI T Esh it szt m REMH B HBE
B R B HyEEE

L\ AT SRS LS,
ATIERIILUOR, BRBRBIESREN TERSH, UXE BEAE LB ERHE

FASE. BEEFPHNSZHEAEK, REFRENREREEL N RREREER m RSB
B SEREMEEZSE B EREsERE R
=y I s (0 s 4k e A <t A3 e
@;fu-l:ll:lo %Zﬂ]ﬁlj E-—%@‘N‘mﬁéif‘ﬁﬁﬁﬁﬁﬁqﬁﬁﬁﬁﬁhhﬁ B Sk egmye B S£RSESEESIkTae
FMEXEXR, REIRVIMESHANERFTHIKAEREGIR B ERSEAEESEER B RRSREMEEEIRR
C s B SREREEEAmZE B SREREREE S
:H: O == F . \_:_EI A S =] :H: | Q 1 .
1/\TTiEIJ1%1iE! *ﬁ EE,JIXI—I_TIEL\T Eﬁ?j—ﬁ*}:‘ I‘E B EREREERE B ERSES R
AR FmBERITHIEELRE . BiEsk. i<, | 2N B SRR B BRI RESE
. N b ) — BRI 4% d J— g
ATFARE. BF. /& . EFFT. = e " RARE
B REEEL

BEABHL S ABARGIR AR BEBRAGFSBEENlS

BEANEZETERE

NBEAEXERREE




P1

MBANELB TG

ez A

- PR
- 211145iE%E§E:
- Ui EE
PRI

ﬂW%%.
AR, B-5RAL9005,

2)7.1:

WINLINK

/_,Irh-
E—
PUR (B ElE), BIEHIPA12
-40° ~105° , 3ERFA[IA120°
5KAInE
Elifl.ﬁj]:uffﬂﬁi‘_%,

3) BEMEA (NRM: T/E,
4) ZEMER (ARM: JT/K,

PUR robot flexible hose

* Product material:
 Working temperature:
- Bending resistance:

* Product performance:

resistance,

* Physical properties:
recovery performance,

-40 ° 7105 °

* Ordering instructions:

1) Default black,

PUR (polyurethane),

color number RAL9005,

Hibgn e el ;
A e LIS L, ’@.—I Ugﬁ)ﬂ’]ﬂ—
ZEJc: USD/volume)

>=JT: USD/M)

up to 120 °
9K times bending resistance
dynamic fatigue resistance,
ozone resistance, friction resistance,
PUR has super soft properties,
wear resistance and bending resistance.

customizable PA12

=i, RE, BE MRIMNLFE
PURTFBUEBREX, REIERESE, AL,

in a short time

high oil

UV resistance,

strong

2) This product can be purchased in whole rolls or retail

3) The price of the entire roll
4) The retail price is (RMB: yuan/meter,

is (RMB: yuan/roll,
USD: USD/M)

etc

customized for other colors;

USD: USD/volume)

WINLINK
— EEH —

Hlzg A& R~ /Robot cable

conduit size

B AELBEEEMG

REARI~mBIS | AE<IME | PIE RER K/W | EBE | SH¥E 8RS

Product model ID*OD pitch | 2Z+0.2mm | thick | Stat.r |Packing

PN. mm mm KE | WIE | mm mm M/ring
RG-PUR-17 17%x21.2 3.7 2.4 1.3 0.5 40 100
RG-PUR-20 20%25.0 4.5 3.0 15 0.5 40 50
RG-PUR-23 23%28.5 5 3.5 15 0.5 45 50
RG-PUR-28 28x%34.5 6.2 4.2 2.0 0.6 55 50
RG-PUR-36 36x42.5 7 50 2.0 0.8 65 25
RG-PUR-48 48%54.5 7/ 5.0 2.0 0.8 80 25
RG-PUR-56 56x67.2 6.5 4.5 2.0 0.9 100 25
RG-PUR-70 70%80.0 8.5 55 3.0 1.0 120 25
RG-PUR-95 95x%106.0 8.8 5.8 3.0 1.1 150 10

R BRBEAR BEH,

TREEZERAASYNKE, MARDE, BFRARITNEEASR.

P2



WINLINK
— BE® —

ER [5] 7€ JEE 37 ZRA

Frammtet: B (HR30%E4F)
FmEit: Ef
- FZamfXhE: RGQM-A
- )ﬁntl:#li =%E$¥’ j:}luj.]lu\ﬁﬁ-,l-
K7, mHd, mEE T%'ﬁ,‘%é’l\?&—:%
- N R ARFR[E] E R 7 42

Aoz, AERATHERIANES A
MENREAS, ALEBCEELERB

Single fixed seat bracket A

* Product material: Modified nylon

(with 30% fiberglass added)

* Product color: black

- Product code: RGQM-A

* Product features: high wall thickness,
and fatigue resistance, oil resistance,
and UV resistance, etc

- Application field: This fixed seat bracket is
versatile and strong, suitable for various
industrial robots, Col laborative robots and other
components can also be used in conjunction with
pipeline packages.

RFERHE R

dynamic
friction

RGOME EX

WINLINK
— BER —

 NBAERATHE

RGQM-23A 23%28.5 M8*25 82 66 M6*20
RGQM-28A 28x%34.5 M8*25 90 74 M6*20
RGQM-36A 36x42.5 M8*25 106 89 M6*20
RGQM-48A 48%x54.5 M8*25 106 89 M6*20
RGQM-56A 56x%67.2 M8*25 151 131 M6*20
RGQM-70A 70x%80.0 M8*25 151 131 M8*25

WBH: AR B EIE FE SR

REEMEBEIENFZARE, FTERERNKEERRE, EAMFAAER,

%*%/EEHLEEEEJ’KE%EEEEF;L&

e SARE

(RGOM-36/48A5NF

ZRSTED

(RGQM-56/70A%p

iz R~TED




— BEHN — — BE® —

S'Z;’é RGOM[E & X ZRikBYFR

1l

B Rl B

1151

AR

- mie: RE, BEe (EFHD
- PR KA RGLV-A RGLV-36A 36x42.5 M8*25 | 106 | 89 M6*20
e Dfﬁli RSatf, REER RGLV-48A 48x54.5 M8*25 | 106 | 89 | M6*20

038, RESA, R IE"E

RGLV-56A 56x67.2 M8*25 151 | 131 M6*20
F—FH zﬁﬂi le'TA & E@S‘Z
AR ALNEATFE LTS A RGLV-70A 70%80.0 M8*25 151 | 131 M8*25
MMEN AN, LAl EE S BERAEIREER. RGLV-95A 95x106 M8*25 180 | 170 M8*25
Single aluminum fixed seat bracket W KENBEEE LR TEAREENEARS, REREMTORLALE, FOFESTER,
* Product material: Aluminum 4:
I |:'ﬁ':|$’|‘ﬂ:2 .

* Product color: silver, black (customized)

- Product code: RGLV-A

* Product features: High quality aluminum
material, surface frosted treatment, sturdy

and durable, strong impact resistance

- Application field: This fixed seat bracket is
versatile and strong, suitable for various
industrial robots, Col laborative robots and other
components can also be used in conjunction with
pipeline packages.

RGLV-36/48 R~ &

RGLV-70 R ~J [&E]1 RGLV-70 R~} &2




— BER — — BEMH —

FH¥E EEIE Tk (& 2% RGQ-ATKTI B AT SR R %

RGQ-23A 23%28.5 a7 | 25 M4
N ‘ RGQ-28A 28x34.5 53 | 32 M4
;?jﬁ% E%;I;'i"_'?jz RGQ-36A 36x42.5 714 | 40 M4
_ I?’E}mf:; _40° ~195° RGQ-48A 48x54.5 714 | 50 M4
- FmfE: SFEE, naSES, mh, MEES RGQ-56A 56x67.2 105 | 60.2 M4
E s RGQ-70A 70x80.0 105 | 724 M4
- NG T A, UMEISRARER B E.
FEmIMNEZE

RGO-A Anti billiards (adapter)

* Product Material: Modified Nylon

* Product color: black

- Product code: RGQ-A

* Product characteristics: high wall thickness,
dynamic fatigue resistance, oil resistance,
friction resistance, UV resistance, etc

- Application areas: Industrial robots,

col laborative robots, and other automation
equipment.

(RGQ—36/48A5MEZIE) (RGQ-56/70A5MEZIE)




— BEHN — — BE® —

73'2 1£_L IR A 5,% RGDW-AE ML If B R

- PR MR E (IN30IKL)
- FmElt: BE, BBSRALI005
- FEERARRD : RGDW-A
- mbEE: SFEE, oS RGDW-48A 48x54.5 49 41 70
By, Wi, MRS RIS RGDW-70A 70x80.0 72 44 103
- AU AKECE LML S RGOM
5| E X ZR{FEH
RGWXSMEZ &

RGDW-A positioning ring
* Product material: Modified nylon (with 30
fiberglass)
* Product color: black, color number RAL?005
- Product code: RGDW-A

Product characteristics: high wall thickness,
resistance to dynamic fatigue, Oil resistant,
friction resistant, UV resistant, etc
- Application field: This positioning ring is
used in conjunction with RGOM fixed bracket.




— HEBH — — HBH —

_%; |"—J 5%1'7 RGDX-AE AL IfIERIF

- PRl MR (IR303ELF)
- Bt Ef, BSRALI005
- P ea{XHS: RGDX-A

- rmirE: SFER, s RGDX-48A 48x54.5 58 50 70
K5, mH, MEESRINES

- N GUE . ARFE ALEAEL S RGOM
& EZHREH-

RGDX-70A 70%80.0 87 81 103

RGDXF A1 E RIMEZE

RGDW-A guide sleeve
* Product material: Modified nylon (with 30
fiberglass)
* Product color: black, color number RAL?005
* Product code: RGDX-A

Product characteristics: high wall thickness,
resistance to dynamic fatigue, Oil resistant,
friction resistant, UV resistant, etc
- Application field: This positioning ring is
used in conjunction with RGOM fixed bracket.




| NBARZATHE

EWERSIT

A

-

nE B

- FmiR: St

- FEmEite: BE

- PP X ES: RGOD-A
- FmiEE: SFEE, ol

Mg 7, MH, MEESEINEE
- NG ARENREBLESE
FERAZRER, NHMMNEKIRER.

Front end sleeve

* Product Material: Modified Nylon

* Product color: black

- Product code:: RGQD-A

* Product characteristics: high wall thickness,
resistance to dynamic fatigue, Oil resistant,
friction resistant, UV resistant, etc

“ Application field: This front end sleeve is
used in conjunction with a special bracket for
the sleeve, and is connected to a six axis tennis
racket.

RGADB[imE 5] 1%

RGQD-36A 36x42.5 MA4*20 84

RGQD-48A 48%x54.5 M4*20 95

RGQD-56A 56x67.2 MA4*20 84

RGQD-70A 70%80.0 MA4*20 120
RGADAM 2 [E]




| NBARZATHE
K

L A Ao
ymE [5]

=<I-

- FEmiel: R
- EmEiE. BEa
- FEERRCRD . RGMD-A
- FmbEE: SFEE, s
g7, hH, MEERSERINESF
- NS ARKIHERIRESE
BERAYXZEER.

End sleeve
* Product Material: Modified Nylon
* Product color: black
* Product code:RGMD-A

Product characteristics: high wall thickness,
resistance to dynamic fatigue, Oil resistant,
friction resistant, UV resistant, etc
- Application field: This front end sleeve is
used in conjunction with a special bracket for the
sleeve.

RGMD K i & 5] 1%

RGMD-36A 36%x42.5 M4*20 73

RGMD-48A 48x54.5 M4*20 73

RGMD-70A 70%80.0 MA4*20 109
RGMDAM 2 [&]




| NBARZATEE  NBAEETHE

SRS ELBY A RGIWX L B {1 B 55

=

- PR MR E
'Fiﬁﬁgﬁfﬁ: %Efﬁ

- FEmfKRD: RGWX-A RGWX-36A 36x42.5 20 50.4 61.2
it SFEE, mahs RGWX-48A 48%54.5 20 50.4 61.2
M 5, MM, MRS M

= RGWX-70A 70x80.0 20 74 91.4
- RS AEREREGECER] RGWXAM 2 [&]

in e

Movable tile shaped parts
* Product Material: Modified Nylon
* Product color: black
* Product code: RGWX-A

Product characteristics: high wall thickness,
resistance to dynamic fatigue, Oil resistant,
friction resistant, UV resistant, etc
- Application field: This tile shaped part is
used in conjunction with the front end sleeve




C FEmAMRL: BUMERER

- Emae: Ef

+ P RGFX-A

- Y SFEE, oS
M5, WM, MRS ERINEGE
- MRS ARFET 2RSS B vm
E=FR.

Splitter
* Product Material: Modified Nylon
* Product color: black

" Product code: RGFX-A

Product characteristics: high wall thickness,

resistance to dynamic fatigue, Oil resistant,
friction resistant, UV resistant, etc

- Application field: This splitter is used in
conjunction with the front end sleeve.

RGFX 772k 2R 1t B 3R

RGWX-36A 36x42.5 33 30 54.6

RGWX-48A 48%54.5 33 30 54.6

RGWX-70A 70%80.0 40 15 84
RGFX5ME[E]




| nmAEseEms
TR E

F‘nnfﬁli _I360F“ F1 mIhEsE,
ACEARL S B &R

- U ZRTIEEA,
MENER AR BaLig s

Metal rotating disc
* Product material: Steel baking paint
* Product color: black

* Product model : RGOX-T

* Product features: 360 degree universal rotation,

suitable for use with brackets
- Application fields: various industrial robots,
col laborative robots, and automation equipment.

P21

- MBAELETHE

0
Nz
ﬁf
ATt
B

- FrmmiE: R

i Re
- FFRAIS: RGOX-36/48/56
/1025

- FEEm4EME: BI360/F A [EhE
&%, BCABRIZEMEH

- S BIETAHLEEA,
I MEN AR BT

Nylon rotating disc

* Product Material: Modified Nylon

* Product color: black

- Product model: RGOX-36/48/56/70 series

* Product features: 360 degree universal rotation,
suitable for use with B—type brackets

- Application fields: various industrial robots,
col laborative robots, and automation equipment.

p22



| NBARZATHE  NBAEZATEHE

{R4EoE B RGSC3EE 1 BUZR /RGSC Spring Selection Table

PR A
- ERIRPR: MEFILRAER,

BRSFEERREERIE L, RGSC-36 36*42.5 400mm
Y a o —
TETE% FIMARBEXRA, L RGSC-48 48*54.5 500mm
E”ﬂiﬂ}ﬁ1§ﬁqo‘ o - RGSC-70 70*80.0 800mm
- Fae{ER: BEFEAEVSEA
EIERTIEH S N EB R {#H 4. F: M EMRKEARERKE, BT, AEHRAER.

RGSC3# % 7 I B/RGSC Spring Application Diagram
RGSC - Springs for Robot Hoses

* Product material: stainless steel

* Instructions for use: After the spring passes
through the corrugated pipe, install the guide
sleeve on the corrugated pipe, Place the guide
sleeve into the fixed bracket and clip it on to
comp lete use.

* Product function: Springs are mainly used to

make robot hoses stretchable during robot operation.




- nsiszasss (o) OFEEIC LTI

= . - s - _ . $o I
R E 2 0N R
- iRl SRR (MR30%IE L)
- EmEit: Ef
- FEmmfAY: RGHQ-A RGHQ-23A 23x28.5 M8*25 | 67 60 M6*20
):_Lﬂﬂcl:#li I_‘lﬁlél&}_ Elinﬁj]:uﬂﬂﬁ RGH

. Q-28A 28%34.5 M8*25 | 88 72 M6*20
j:% g Zﬁl-{éi éﬂﬂr*ﬁ% RGHOQ-36A 36x42.5 M8*25 | 106 89 M6*20
- S . AEREEREE 2 E A RGHQ-48A 48x54.5 M8*25 | 106 89 M6*20
0R, AJIERHT&E ‘ RGHQ-56A 56x67.2 M8*25 | 151 | 131 | M6*20
E:LEFAH’ WA EE L EBATH RGHQ-70A 70%80.0 M8*25 | 151 | 131 | M8*25

RGHQ — Robot Pipe Ball Fixing Seat (Type A)
- Product Material: Modified Nylon(Plus 30%
fiberglass)
* Product color: black

- Product code: RGHQ-A

Product characteristics: high wall thickness,
resistance to dynamic fatigue, Oil resistant,
friction resistant, UV resistant, etc
- Application field: This bracket is only suitable
for the front end sleeve, and the end sleeve is
used as a matching device

-1+
Jdi+

PREE IR A E




BRI O OFEEIC LT T

L S I R RC2D-AE

it

it
Kt
x

Nmir
Al

@R EMRE (30%WELT)
- FmeE: B

- FEmXAS: RGZD-A RGZD-36A 36x42.5 M8*25 | 106 89 | M6*20
F&._;L ””%E - Tiz ;;‘%Z@g%m RGZD-48A 48x54.5 M8*25 106 89 | M6*20

RS A e E R e RGZD-70A 70%80.0 M8*25 | 151 131 | M8*25
HEAHRE, AERT&ENSEA, EnEELLENEE

WARIABC S =R aER, WE
A EBRgE, AERE.

RGZD — Robot Guide Fixed Base (Type A)

* Product material: Modified nylon (with 30%
glass fiber added)

* Product color: black

* Product code: RGZD-A

* Product characteristics: high wall thickness,
dynamic fatigue resistance, oil resistance,
friction resistance, UV resistance, etc

- Application field: This guide fixed seat bracket

Is versatile and suitable for various types of
robots, [t can also be used in conjunction with a
three—axis telescopic box, and the hose can be
freely retracted without being constrained.




EEEICCLTT IO

EREN[EE X IR

- bRl iR (In30%IKLF)
- FEmEe: Ef

- FZERAXHES . RGQDW-A

- it SFEE, oS
K5, MR, BRSNS

- NS : KRS EE E TSR
AR, AERATEENEAN,
FHRNBZTFEREINE .

RGADW-A robot positioning fixed seat
- Product material: Modified nylon (with 30% glass
fiber added)

* Product color: black

* Product code: RGQFW-A

* Product characteristics:

dynamic fatigue resistance, oil resistance,
resistance, UV resistance, etc
“ Application field: This guide fixed seat bracket

Is versatile and suitable for various types of
robots, Fixed hose for the main machine arm.

high wall thickness,
friction

RGQDW-A[E] E

RGQDW-48A 48x54.5 M8*25 106 89 M6*20
RGOQDW-70A 70%80.0 M8*25 151 131 M8*25
R
ENLEE L ZRMN A




EEEICTTT O

£ R ENIRE T X 22
- FEEEAME MR
- FEmEe: Ea
- FEER{RES: RGQFW-A

- FEmtF: SFEE, s
g%, mm, MEESSINE
=

- AU : AR YEE, Bl

£, T%ae, REMAEREE,
S PR E R

Integrated front—end sleeve bracket

* Product Material: Modified Nylon

* Product color: black

- Product code: RGQFW-A
Product characteristics:

resistance to dynamic fatigue, Oil resistant,

friction resistant, UV resistant, etc

- Application field: This model consists of a

bracket, front end sleeve, splitter, and tile

shaped components, and is used in conjunction

with a six axis tennis racket.

high wall thickness,

RGQFWRIT i % 2240 {41k

deks

RGQFW-36A 36x42.5 M8*25 106 89 M4*20
RGQFW-48A 48%x54.5 M8*25 106 89 M6*20
RGQFW-56A 56x%67.2 M8*25 148 142 M8*25
RGQFW-70A 70x%80.0 M8*25 151 131 M8*25

FEEa A /application




EEEICCTT O

ERRInER X 22
- FmiRl: SRR E

- Fmae: Ef

- FEERICRS . RGMFW-A

- mbEe: SFEE, )
ST, Wi, HEESER
IR

F—Fﬁ i’JZ ZIK'TAEESIZ N F]'J
wmER, Htkes, RBEEMR

BoE, S GHMEKRERER.

Integrated end socket bracket

* Product Material: Modified Nylon
* Product color: black
* Product code: RGMFW-A
Product characteristics:
resistance to dynamic fatigue, Oil resistant,
friction resistant, UV resistant, etc
“ Application field: This model consists of a
bracket, front end sleeve, splitter, and tile
shaped components, and is used in conjunction
with a six axis tennis racket.

high wall thickness,

RGMFW>R i 37 2228 14 1&

RGMFW-36A 36%42.5 M8*25 106 89 M4*20
RGMFW-48A 48%x54.5 M8*25 106 89 M6*20
RGMFW-70A 70x%80.0 M8*25 151 131 M8*25

— ==

FmEiRNe

%




N A BEa SR @ N AL aERY

LR & B E T EkhEsE 52 ROQMX-ARERY [B] € S ARIE R
Fmis EECRE SEREMH
}-_‘r_ 1%_7'_—'— %ﬂﬂiu}_‘_"i} Eﬁ |‘$ Product model | Adapted hose Integrated Suite
. P IZIEII:I y S A T Ko
RAZE (In30%KLT) i ® mm ! 2 3
. R . Ba RGQMX-28A 28x34.5 BN R 28 Z48 28 {Efigse
- }‘_:LIIIEIIZI'f:EE-E:IH RGQM)‘(—A RGOMX-36A 36x42.5 | iBMAiEEER | 36 X 36 1SHPsE
" ;””%E S'Z%Egﬁﬁ, =S RGOMX-48A 48x54.5 | iGFANESEEE | 48 8 48 1EHpse
o /:E AIA
i }_‘_ FI4TiHE . ARt E RS RGOMX-56A 56x67.2 L )i 56 3748 56 1EHgse
BRI, AIEATEENEA, RGQMX-70A 70%80.0 B RhEsE R 70 758 70 iEFcES
E’E?rﬁfﬁ%ﬁ%i%l?ﬁ RALIE, 360EENE
4% 1) o]

| | | hEd% [E E 2 22 b F &
Integrated metal disc with ball rotating bracket

* Product material: steel chassistmodified nylon
bracket

(with 30% glass fiber added)

* Product color: black

- Product code: RGQMX-A

* Product characteristics: Metal rotating disc,
integrated with ball fixed seat bracket

- Application field: This rotary fixed seat
bracket has a strong universal design and can
be applied to various types of robots, The rotating
chassis is treated with paint and rust prevention,
with 360 ° free rotation and direction adjustment.

P35 P36



N A BB aERE @

AS A — -

ZL.

o

=

;;

Al

S o) hes%: 52

: r‘nnﬁ £ NI RE e

- il €ERBERE, BE
S 0] (& E PE 7 ZREE K
f% WiE: AN FRIEEL [E E RE X2
BRARE, ATEAT &L
A,%%Eﬁ%ﬁ%%%ﬂ,%o
B e .
Integrated metal disc guide rotating bracket

* Product material: steel chassistmodified nylon
bracket

(with 30% glass fiber added)

* Product color: black

* Product code: RGDMX-A

* Product characteristics: Metal rotating disc,
integrated with guide fixed seat bracket

- Application field: This rotary fixed seat bracket
has a strong universal design and can be applied
to various types of robots, The rotating chassis is
treated with paint and rust prevention, with 360 °

free rotation and direction adjustment.

P37

@ N A BB aERE

RGDMX-AnE4% & 7 e Arik B3k
Fmils EEIRE SEREM
Product model | Adapted hose Integrated Suite
PN. ® mm 1 2 3
RGDMX-36A 36x42.5 EFNEsER | 36 &R 36 SHEGS
RGDMX-48A A8%54.5 EEFENERERE | 48 Z5R 48 SREF
RGDMX-70A 70%80.0 EANEsER | 70 &R 70 BHES

hedEE e ZE M A E

P38



YT T @ @ N A BB aERE

Erb SRS — _AT =0 = o 3 H
E kB3 ERLHERE & 28 RGWMX-AREAE B E 3 Rik Bl
FmilsS ET YN SEREM
}—‘_zl:lﬁl:l*j-*sl_ %N%UFEE"‘E&'EE%Z Product model | Adapted hose Integrated Suite
& 28 (HN30%IELF) PN. ® mm 1 2 3
- FmEt: B RGWMX-48A 48x54.5 o] 2 2) i i 48 %58 48 (IR
* P an RS RGHMX-A RGWMX-70A 70x80.0 1 E{
o s %80. EFLEER | 70 3758 70 EfLIA
- FminPl: EREEE, BEE
v [ 5 A0
RELIEE B SRR et 2R F

- NG AR FRERE B E FE T

ZREREME, AIERATRXISRA,
HERE RIS RBIIEALIE, 3608 HlE
B2 E

Integrated metal disc positioning rotating bracket

* Product material: steel chassistmodified nylon
bracket

(with 30% glass fiber added)

* Product color: black

* Product code: RGWMX-A

* Product characteristics: Metal rotating disc,
integrated with positioning and fixing seat bracket
- Application field: This rotary fixed seat bracket
has a strong universal design and can be applied
to various types of robots, The rotating chassis is
treated with paint and rust prevention, with 360 °
free rotation and direction adjustment.

P39 P40



L2 A\ a R @ @ N A BB aERE

S IR R T e 32 oI B R
Fmis L YN = SREMH

FEOAAR], R 2 R A Product model Aiizteed Integrated Suite

%28 (HA30%ILT) PN. ® mm 1 2 3 4 5

' i ””; JJ:% i%x y RGFMX-36A | 36x42.5 |BFEAEISE| 36 %42 |36 AINER| HEHE | RaM

AR

R SRS, RE RGFMX-48A | 48x54.5 |BFINEEEER 48 IR |48 MIlRER | P& | REM
B i [E] RE e 7 ZREE Bk RGFMX-70A | 70x80.0 [E@FIKEESHR| 70 242 |70 Hithisr | H4se | REUS
RRMAE, BT AN A, i

hEFs KRB IE R HAIE, 3608 HhE

FiE .

Integrated metal disc front rotating bracket

* Product material: steel chassistmodified nylon

bracket

(with 30% glass fiber added)

* Product color: black

- Product code: RGQOMX-A

* Product characteristics: Metal rotating disc,
integrated with front fixed seat bracket

- Application field: This rotary fixed seat bracket
has a strong universal design and can be applied

to various types of robots, The rotating chassis is
treated with paint and rust prevention, with 360 °
free rotation and direction adjustment.

P41 p42



- nsiszasss (0) OREEIC T T

‘ }ﬂszbizFFﬁﬁngilz RGZOX#1.25 A& R ~J/RGZ0OX Robot cable conduit size

Nmir
Al

AR MRS (REXZE)
EREE: Be, TEfEeRE
. F=ERHD: RGZOX

- FEanifiiA . BUAERE ERC R TR,

AEfCEkZEHCEE, AR, SFEER
- MRS ERSHEA, B

11 % *E%ﬁ&ﬁjjluﬁgﬁj]

RGZOX-36 36x42.5 (M8*25| 56 23 93 130 M4*20

RGZOX-48 48%x54.5 |M8*25| 60 26 128 150 M6*20

RGZOX-56 56x67.2 |[M8*25| 60 26 148 182 M8*25

RGZOX-70 70x80.0 [M8*25| 60 26 160 190 M8*25

R AEEORA) R, RSB FT R IR, MR, BRI R
2r O g . .

RGZOX — Robot Pipe Support 7 anSKlEl/Product physical image

* Product Material: Modified Nylon

* Product color: black, other colors can be

customized

* Product code: RGZOX

Product characteristics: Default rotating

disc with single

bracket, optional with spherical adapter, inner

clamp, guide sleeve

- Application field: Can be used with robots,

automation

equipment, drag chains, and dynamic mobile

devices

e S e S22




EEEICTTT O

S BXE Fin [E] T S 2R

A 111
T

Ay

=

- FEmif R RN RN E T
- Tmie: Re, IEHHMmE
- FF oS : RGCP

- Pt BOAEfRRC RIS SR
AIEBCA R E FRIER

- NG AIERTMERLEE A,
WBEtl, Batftisg, EEAIS
B &

RGCP Pipe Clamp Robot Pipe Support
* Product material: modified nylontstainless steel
pipe clamp
* Product color: black, other colors can be
customized
* Product code: RGCP
Product characteristics: The default pipe clamp
Is equipped with a ball bracket, which can be
optionally equipped with an inner clamp or a guide
sleeve
“ Application field: Can be used in robots,
stackers, automation equipment, drag chains, and
dynamic mobile devices

(o) nEAEmakmt

RGCPE$E X 22 R ~F/RGCP pipe clamp

RGCP-23A 56-161 23*28.5 M8*25
RGCP-28A 56-161 28*34.5 M8*25
RGCP-36A 56-161 36*42.5 M8*25
RGCP-48A 56-161 48*54.5 M8*25
RGCP-70A 56-161 70*80.0 M8*25
fern: DLEBURTEEI  BARVER], WSLRTEmAbla N B, DUMET RIS E RS

Frial F/application




5 Rk 30 B E FE 3 3R

- Emiel: SR LE (RE)
- EmEne: IRE, EFER
- FEER{RY: RGOLV-A

- P SFEE, e

MR, MM, fHEESRINGS
- NG ATER TR ERTAL
A, TMENSRARE B

Integrated aluminum fixed seat bracket

* Product Material:

in)

Aluminum+Modified Nylon (Built

RGQLVH

SEK R

& 1 FE R~

RGQLV-36A 36x42.5 M8*25 106 89 M8*20

RGQLV-48A 48x54.5 M8*25 106 89 M8*20

RGQLV-56A 56x67.2 M8*25 151 131 M8*25

RGQLV-70A 70%80.0 M8*25 151 131 M8*25
RGDLVEEk$a [E E FE R ~T

* Product color: Silver, customizable black CDLV-36A | 3omans | Maros o6 ” 820
- > .
* Product code: RGQLV-A
Prod ; i oh 1 thick q _ RGDLV-48A | 48x54.5 | M8*25 106 89 M8*20
ro “?t eatures. 'gh wa t.'c ness, dynamic RGDLV-70A | 70x80.0 | M8*25 151 131 | M8*25
and fatigue resistance, oil resistance, friction
. === Ay | —
and UV resistance, etc RGFLV# Bkt [E & FE R ~T

- Application field: Suitable for various industrial
robots, collaborative robots, and other automation
equipment

RGFLV-36A 36x42.5 M8*25 106 89 M8*20
RGFLV-48A 48%54.5 M8*25 106 89 M8*20
RGFLV-70A 70x%80.0 M8*25 151 131 M8*25




- nsiszasss (0) ORI T T
£ £ Bk R RONFIR 32 248 2

- FEmie: EBMR
- PNt IRE

- PR ES: RGWQP RGMFW-36A 36x42.5 M8*25 106 89 M4*20
o f"‘nnfﬁﬁ STEE, RGMFW-48A 48x54.5 M8*25 106 89 M6+*20
}-LEj]IL'\ﬁﬁ-J- &jj ] ﬂﬁq-i&y
o RGMFW-70A 70%80.0 M8*25 151 131 | M8*25
M BRI S RNk TF
- R FHUE : ANFR7N A S SR EK RGWQPHIMFZ &

0, ERTHLEE AR 5.

Integrated tennis racket connection block

* Product material: Metal material

* Product color: Silver

* Product code: RGWQP [ \

* Product characteristics: high wall thickness,

resistance to dynamic fatigue, Oil resistant,
friction resistant, UV resistant, etc

- Application field: This six axis bracket tennis i

racket is suitable for the six axis front end of
robots. [ RGWQP-140] [ RGWQP-160] [ RGWQP-200]

U




- nsiszasss (0) OREEIC T T

£ KRS RGTH- | {38 FR4E 3 R <H/RGTH- | Retractor

R MM R R
R B, AEEtRe

- FEERXHS: RGTH-I
i SEEE. Vs oTHA | e4wses | 4o :
Tilsh, iR S M RGTH-56-I ®56%67.2 56 2R 1
}"‘ A : AIfFEATHEAN, B RGTH-70-I ®70*80.0 70 2x 1

s, HENISEMRE

R BRHMEANR BOHM, TRRESEMMAEYNNE, WHRED,
IFERAREMNBIEE AR,

RGTH robot spring extender RGTH- 1 5N E
* Product Material: Modified NylontStainless
Steel Spring =

* Product color: black, other colors can be

customized

* Product code:RGTH-I

* Product characteristics: high wall thickness,
resistance to dynamic fatigue, Oil resistant, | w
friction resistant, UV resistant, etc

“ Application field: Suitable for robots,
automation equipment, drag chains, and dynamic
mobile devices i

4445
330

B
e
|




EEEICTTT O OREEIC LT T

ERR | IBRESKES RGTH-1 13885 {MZEE5 KT /RGTH-1 1 Retractor
-‘ il ot R e+ SN
oE &
:ﬁ;‘-’-l:'ﬁ':. ite: B, AEHIHEAf RGTH-48-I] $48*54.5 48 & 1
”‘}% D{—%E% RGTH | | RGTH-56-II ®d56*67.2 56 X 1
* JariCeT: -
. F&ﬁl;%:l\i %‘%E&E’ j:ﬁ;ij]lj& RGTH-70-II ®70*80.0 70;% 1
M5, MM, mEES S B REEAAIECQAR, TREGSEMNFLEYORE, NEHED,
e EHE AR EAR.

- S RI{ERTHLEEA, N
B, RSB FEanlz fl/application

RGTH-I1| robot spring extender

* Product Material: Modified Nylont+Stainless
Steel Spring

* Product color: black, other colors can be
customized

* Product code:RGTH-11

* Product characteristics: high wall thickness,
resistance to dynamic fatigue, Oil resistant,
friction resistant, UV resistant, etc

- Application field: Suitable for robots,
automation equipment, drag chains, and dynamic
mobile devices




L2 A\ a R @ @ N N B LB SR

ERUBIBESLE RGLTH-LNE R < E

- FEmmi Rl MR E

- ZmEne: Ba, aEf

Hibgita

« FZEL{RED : RGLH-36/48/70A

- FmiFE: SFEE, ol

M5, Mm, MEEEEINEE
- NS : AI{ERTHIEEA, B
1%, HEERISEINER

RGLTH-L robot spring extender
* Product Material: Modified Nylon
* Product color: black, other colors can be

customized
* Product code:RGLH

* Product characteristics: high wall thickness,
resistance to dynamic fatigue, Oil resistant,
friction resistant, UV resistant, etc

- Application field: Suitable for robots,
automation equipment, drag chains, and dynamic
mobile devices

P55 P56



BRI O OREEIC LT T

RGNW-T Ml 428 A EE RGNWi%ZIZ /Product Size Table

PR USRI ARG
- PR ER: HlEsE AR, B

&
%%%nguj‘]g)%g&%ﬁ ° RGNW-15 75 15 25M
- FFmmIhge: B KIRIEE, T,
it e RGNW-20 84 20 25M
[=]/m ,
R BARE, THEER RONW-25 100 25 25M
- PR AIREMML, SEREFSH, RGNW-30 115 30 25M
'_‘_“l_-_' ]
GESLE[E, BHER, WHHGE. RGNW-40 147 40 25M
RGNW-50 183 50 25M
RGNW industrial robot sleeve
RGNW-60 220 60 25M
- Product material: Kevlar fiber+Velcro RGINW=70 46 70 23
* Product function: Robot wiring harness, welding RGNW-100 340 100 25M

equipment wiring harness, mobile cable protection.
* Product Function: Anti splashing welding slag,
wear—-resistant, high temperature resistant;

* Product color: default gray, optional black

* Product features: Can be repeatedly pasted,
simple and easy to use, sturdy and firm, freely
cut, Easy to bundle.




- nEassasss (o) () nEimmasar
RGTL-T M/ #lz5 A\ fE 5k RGTLiEB!3R/Product Size Table

-Fﬁﬁﬁ:ﬁk&ﬁﬂt

E LT %—ff -
- FFamlhge: RIPELE, ATEH RETL-478 i ! i
%g-gjnapgﬁg;;@ RGTL-47K 47 1 MFO
- FEEREN B Ej(m%@ RGTL-57B 57 1 £33
- PRt ASEEE, MREfR RGTL-57K 57 1 mFO
E y 1§FH %" Ap -l;t o

rrmmM R 7R/application
RGTL industrial robot drag chain o /IN/app

* Product Material: High quality

modified nylon

* Product Usage: Robot pipeline

systems, automation equipment, etc.

* Product function: Protect the

cable and allow for free movement,
expansion, and transformation;

* Product color: default black;

* Product characteristics: sturdy,

stable performance, and long service |ife.




N A BRa SRt @ @ N AL aERE

RK"_J_:IIJ_II\;%EJ:&jE;“EZéE%'?%% BARIR I A& ek /Straight quick pipe connector
REBAEL= MBS BRI EhtBAE IRSUSE
" }jplﬁlquj—ﬂgl— )ﬁjlz Product model Thread size Hose Thread length
- Bﬁ*F%é& | P65 PN. Metric @ mm GL mm
- TAE;EE: —-40° ~105° , RK-M20-17 M20x1.5 ®17*21.2 13
IORTA[1k120° RK-M24-17 M24x1.5 P17*21.2 13
- PABAZESG . UL94AV-2PE B4 RK-M25-17 M25x1.5 ®17*21.2 13
RK-M25-20 M25x1.5 $20*25.0 13
RK-M25-23 M25x1.5 $23*28.5 13
RK-M27-23 M27x1.5 $23*28.5 13
RK-M30-23 M30x1.5/2 | ®23*28.5 13
RK straight quick nylon corrugated pipe joint RK-M32-23 M32x1.5 $28*34.5 13
RK-M32-28 M32x1.5 ®28*34.5 14
- Product Material: Nylon RK-M36-A28 M36x1.5/2 | ®28*34.5 14
.- Protection level: |P65 RK-M40-28 M40x1.5 ®28*34.5 14
* Working temperature: -40 ° 105 ° , up to 120 ° RNSEOREe MADESLE LTS -
‘n 2 short time RK-M42-36 M42x1.5 ®36*42.5 15
- Flame retardant grade: UL94V-2 flame retardant RKCM48-36 MA48x15/2 | ®36%42.5 15
RK-M50-36 M50x1.5 ®36*42.5 15
RK-M50-48 M50x1.5 $48*54.5 16
RK-M60-48 M60x1.5 $48*54.5 16
RK-M63-48 M63x1.5 D48*54.5 16
RK-M64-48 M64x2.0 P48*54.5 16

pPo61

bpe62



ABBH 28 N &
FERHEEANE
Z BN FZNE
Z)INBEANE
THEBEANE

ZLERHLER AE
RBHI[/ANE
B AE
BENFENE
FHFHREANE

JNIGHZAE
LRMate# 25 A&

NMBAEXEHEEBF

=2kl
=28l

=25 Bl

=226
542!
BiE
542!
=258
=226
=2l

543!

542!

543!

ABB |RB6700%E %S

- ELRERIE . ABB IRB6700
- ZHEFZE: 48{H458!

THMERE: BIARA48HLZEAKE,

NHECEMERIH, =%H

%ﬁ REBREHRGES, ARECTK
REEHE, TENRES T IRERM

ﬁﬁ%%ﬁﬁ BEH

RsE, MHNEES.

AL E S E/Configuration List

Ik et

X AL

el

At

B, 5

1 NMBARE RG-PUR-48 7 MEHE
2 BB EE R RGQ-48 5 mEHNE
3 | SERMEREREIEZSR | RGHQ-48A 5 TR+ BRI ERES
4 | EFEIREEEE RGQFW-48A| 1 % E?ﬁﬁiit' Ao
5 | SERKRIREESZSR |[RGMFW-48A 1 XR . KRER , %R
6 NHIPIERIR | RGWQP-200 1 Eh
7 ElEEREIR RGDK-34 1 S|
8 ER—BgES | RGTH-48-I 1 —F (FEEER)
S FEM: M EARARES Rt EREES R, FRESREMTIETHGE, HRESSSIRER

SIARE;




HEABEESRE @

KUKA R210 R2700%%7

—

Yarlas s S 2
=EXBEHR

- mhEAYS: KUKA/EE£ R210 R2700
- BB E: 70BIUB Mg
- IEAMERE: EEASKAT0H
B ARE, NHECEMBRIH, =3
?A*}Z’E}ﬂw*”%%ﬁl wma,
B FRBCEKE EE?”,
%E?”%EW&%&E
friEtk, BERFRRREE,
SCHME, MMEES.
70BUEI EEF B /Configuration List
Fs [l TR T REAFE - mES REHE SRR
NO. | product name [Product model|Quantity note
1 NS AERE RG-PUR-70 4 ERE
2 PrEEEIREK RGQ-70 5 PpiEEK
3 BeEKEESZSR RGHQ-70A 4 X5+ KA IEHCES
s X5, BIRER , SR,
4 BIimsZZR¢AE | RGQFW-70A 1 e
5 KimsZ5REH | RGMFW-70A 1 X5, KinER , PR
6 7 ~HpRIEkIE RGWQP-180 1 TEHI
7 Bl &R RGDK-34 1 EI
8 U BYmfE= RGLH-70A 1 WE, BHIFE |, BE
i?;iz U EARAERBEERTEREEFR, TEXMREAZREFHREK, 5REB S XMHFRER
Pe5

@ Y 1)

FANUC R-20001C—EEX &5 =

- fRPERIE . FANUC R-20001C
- BRAR: 7083 HYgE)
- ZHMRE: KREFERRXRHTONE,
—ENEIREREENA, U8
BT 2 AR JEI1BE:, BHAliETk
Ti@i’a‘&?”"’%m SRR SRR,

AlmARIm B, AKXKTHAR,
EFRHEERE, BEXR5E &k
fiElfces, WEARIEGE.

ML E BB /Configuration List

- |5579:53 Shed i -
Fe = RE 5 i TEBIHEERE
Product
NO. roduct name uanti note
P model Q vy
1 NEBARE RG-PUR-70 4+3 s
2 BhtEREIEEK RGQ-70 4 BhtEEk
3 BeEKEIESZ 5= RGHQ-70A 4 TR+ Bk &S
e X2, BIRER , P&
4 ik 240 RGOQFW-70A 1
AR sz 54814 Q R
5 FKimZZREHE |RGMFW-70A 3 XR |, XinEH , 9%=%
6 7RI EK$E RGWQP-160 1 El
7 ElEEEIR RGDK-34 1 Eil
8 “REES RGTH-70 1 BETEREMY
REEHE: UEARARBETRTRRERESR, MESFEHIREFEK, FRIEESIRER
SRR,

P66



NEASLEERE @ @- Y e )

FANUC M-201 A5 X 22 )1IMS210-MH225 %8 45k a1 5 =

- SHABAIE. FANUC M-201A - fRRERIE . Z2)I| MS210-MH225
- AR 488! - BRHAR: 488
- ZHMEE: KREFR TFH489*‘”$X - EHMRE: KREHFRXA4I8HE,
EEZAR, —HTAKE, X PrhilifETk Al i R E S s RS
W%W,mmmim,Aﬁﬂwm MR, BlImARImRAEE, KX
F, KRATARK, FHEEIE. TARRAK, FHEERE B3R
G —Rl BRIk IERC RS, XE Al
e,
= . . . o4 s . . . .
Ml E 5B /Configuration List Bl E 58 /Configuration List
pe oo zome  |pags o ph FsS [ T-r = BB~ MBS EBiEHE SEREER
NO. SIS RN Pr;(z)ddl;(it Quantit S NO. | product name |Product model|Quantity note
Y 1 NBEARE RG-PUR-48 5 i
1 MEBARE RG-PUR-48 3.5 RE
2 BhiEEE IR RGQ-48 4 BhiEER
2 BhtEEk RGQ-48 3 BiiEEk
: 3 BeIREIESZ 2 RGHQ-48A 6 TER+IRT SRR
3 EERLECER Y 22 RGHQ-48A 3 TR+ RIS RS o -
4 EERERIIRSZSE | RGQFW-36A | 1 s H';T.ﬂ?#' EEM4
' 5 KimzZ2EEH | RGMFW-48A 1 FR, KinER , PR
5 £E Rl Kiim SZ 20 RGMFW-36A 1 ¥R, KiRER , D&
6 7 i RIERIE RGWQP-125 1 EF
6 pIEkIRZE S RGWQP-D 1 Eml: Rk
7 ElEEEIR RGDK-27 1 I
BEEE: N EARTRESEST2REESR, TRESEREhIGE, BRIEE SRS
SHBAEK;

P67 pe68



WA
S
ar
:|-|,
At

2 )||GP180%X 7

Al E S HE/Configuration List

1 NEBARE RG-PUR-48 7 MEHE
2 PSR EK RGQ-48 5 MBS
3 | SRAKECEKEIESZZR | RGHQ-48A 3 X5 +EKAZIERD SR
4 | SEPRAREIESZEZR | RGQFW-48A 1 S Eﬁﬁﬁuﬁff# ne
5 | ERNKRIKEIESZZR | RGMFW-48A 1 S *ﬁ:% 0%
6 7 ~5HMIEk$H RGWQP-160 1 A=r
- mhg8S: &JI| GP180 7 Bl RGDK-34 1 =4
- GG E: 488 8 | ERHEMEE | RGTH-48-I 1| —E (ESRER)
- ERAMRE: AEFRIAPBRE, FHRiETkAIE R
HE S R EES IR, I —ARHESE, 7l gij@ M EARAIRBIERITEREESR, FREIREMTEPNGRE, HRESSSIHRER
e

imAR IR B, RARTARAR, EHEEE, BE
ARG —EL &Ik ERCES, E M RIARE.




NEASEasRE @

T RIAKAREE %

!

a2 rmhe :
- BRAR

T4/ JAKA
ZU/C/MIN|/PROZ 7|
. AJ1%23/28/36/48E %6,

23BC B FE /23 Configuration List

Fs [ T4 EFmis | REHE SEB SRRk
NO. product name Product Quantity note
model
1 NBBARE RG-PUR-23 3 RE (FRE#HE)
2 PriEEEREK RGQ-23 3 BhfEEK
3 EEEESSR RGCP-23A 4 BiE+3Z5R B iEhcEs
4 BIlREIESZER RGHQ-23A 1 BElIEsSZ5R+A%
5 7<HHMIERE RGWQP-T 1 REH: POEKIH+ZERIR

28 BCEEHE /28 Configuration List

Fs FEaman Fmis | REHE SEBHERRL
NO. product name Product Quantity note
model
1 NBAKRE RG-PUR-28 3 RE (FRE#HE)
2 PRI EERTK RGQ-28 3 PRiEEK
3 EfEEESZR RGCP-28A 4 e+ 3258+ Bk EEs
4 BinEESZS RGHQ-28A 1 ElIESZ 58+ Bk EED RS
5 7~ HRIEXIH RGWQP-T 1 EY: POEKIH+ZERRIR

P71

6B B FEH /36 Configuration List

me | rFRew | rEms |mEsE|  ssesw
NO duct Product it .
. | product name el Quantity note
1 | MBAKE | RGPURI6 | 3 | WE (REME)
> | mmmmm | roo3s | 3 pris
s | mmEEEE | RoCPS6A | 4 | BER-HERE
+ | IWEEERER [RoQFw-3oa| 1 | T DT A
s | smmmE | RowopT | 1 | mH: MEA-EER

A8 & 5B /48 Configuration List

@ NEASLE SR

Fs R Fmis |EEHE SRR
NO roduct name Product Quantit note
| P model V
1 NBARE RG-PUR-48 3 e (FREHSE)
2 PrEEEREK RGQ-48 3 PRk
3 EfEEESZSE RGCP-48A 4 EfE+ R+ Bk iEEees
R +EIRER+ 22+
4 | EREMEEAE |RGOFw-aga| 1 |n PURER R
REUY
5 7 <§HRIEKRH RGWQP-T 1 iEHl: MBI -+ERIR
RRHEE: UEARARBIERTEREIRELF R, TEIMRESAIEREREK, FIREESIIRER
SHRAR;

P72



NEASEasRE @

EIHAUBOREEE LB AR
- HLEE AR, EiE

- FIEEBIS: | /C/ERT

- EH %= \]1%23/28/36/48% %6

23 E 5B /23 Configuration List

@ NEASLa SR

36 E S5 H /36 Configuration List

FsS At Fmis | REHE SEB SRk
NO. product name Product Quantity note
model
1 NBBARE RG-PUR-36 3 RE (FREZHE)
2 BRiERERER RGQ-36 2 BhiEEK
3 EEEESZSR RGCP-36A 4 Bt + 325+ Bk & s
4 | EURERMEEM RGQFW-36A| 1 ig'"‘ﬁﬁ“";gﬁ;ﬁﬁ%
5 7<HhPIEkIR RGWQP-T 1 TEH: PIBKIA-+ERRIR

ASHC E j§ 8 /48 Configuration List

FS [ T Fmis | REHE SERIFEERY
NO. product name Product Quantity note
model
1 NBAKE RG-PUR-23 3 NE (TREZHE)
2 PriEEEREK RGQ-23 2 FH#EEK
3 EEEESZSR RGCP-23A 4 EilE-+3Z50+ B IEHEs
A BllREIESZER RGHQ-23A 1 EIESZ5R+AK
5 7<HRIEkIH RGWQP-T 1 TEHl: RIBKIR+HERRIR

28 BB FE/28 Configuration List

FsS Rt Fmis |REEHE SEBHEERL
NO. product name Product Quantity note
model
1 NBARE RG-PUR-28 3 BRE (FREHE)
2 PRI EERTK RGQ-28 2 BpiEEK
3 EfEERESZR RGCP-28A 4 Bt + 325+ B &R
4 BIlREIESZER RGHQ-28A 1 ElESZ SR+ Bk iERCES
5 7<HhpIEkE RGWQP-T 1 EhY: POEKIH+ZERIR

P73

F= [ T4 Fmis |EEHE SEBHERk
NO. product name Frelelliel: Quantity note
model
1 NEBARE RG-PUR-48 3 RE (FEHE)
2 PriE Rk RGQ-48 2 FRiEEK
3 EEEESZSS RGCP-48A 4 EfE+ TR +BkA &R es
s 1 L oo
4 Eﬁﬁ#ﬁﬁ%i;ﬁgﬂ‘# RGQFW-48A 1 i*"'ﬁ!’ﬁﬁﬁﬁ"’ﬁﬁﬁ"’
RE(Y
5 7<HRIEkIA RGWQP-T 1 REHl: PIBKA-HEEIR
RRHRE: QUEARARBIERTEREIES R, TREIMREAIREPHREK, BRESSEMRER

SHARE;

P74



NBEAELERRE

1< A TMEE 7

i ==

I 5f B

JF k¥ Bo
H dlo FE

©

. 1XBATM
. TMFOTM SZER %
. A[1%£23/28/36/48E %4

Il ), 1 s
AT S

23 E 5B /23 Configuration List

FS iR Fmis |EREHE EERIFERK
NO. product name Product Quantity note
model
1 NBARE RG-PUR-23 3 IWE (MEHE)
2 BhIEREREK RGQ-23 2 BhEK
3 EfEEESZER RGCP-23A 4 EHiE+ 3250+ IS RR
4 BUlmREIESZSR RGHQ-23A 1 EESZSR+A%
5 7~HhpoIEkiA RGWQP-T 1 ER]: RIEKIH-+HEREIR

28 BCEEE /28 Configuration List

FS [ = FmBls |REHE SEBHFEER
NO. product name Product Quantity note
model
1 NBARE RG-PUR-28 3 NE (TREHS)
2 PiE Rk RGQ-28 2 BiEEK
3 EfEEIRESR RGCP-28A 4 EHE+ S50+ Ik ST =R
4 BIiREIESZSR RGHQ-28A 1 BlIESZ SR+ Bk ERCER
5 7<Hhpogkia RGWQP-T 1 TE: PIEkIE-+ERRIR
P75

@ NEASLE SR

6B E S H /36 Configuration List

F=s [ T4 Fmis |EEHE SEMHERR
NO. product name Product Quantity note
model
1 NESARE RG-PUR-36 3 RE (EHE)
2 PHISEERREX RGQ-36 2 PRIk
3 EREESZER RGCP-36A 4 EilE-+325R+BEhcEs
e a ZR+BIIRER+ PR+
4 | BIIRERSZSREAMH | RGQFW-36A 1 A
5 7~HRIEkIR RGWQP-T 1 TEH: MIBKA-HEEIR

ASHC E 5B /48 Configuration List

Fs AR Fmis |REHE SEPHFEERR
NO roduct name Product Quantit note
| P model Y
1 NBARE RG-PUR-48 3 RE (REHE)
2 PhiEEE Rk RGQ-48 2 PotEEk
3 EREESZSR RGCP-48A 4 EfE+ 325+ Bk iEECES
n+-l-l-&ll.| = + +
4 | AREMEREE (ROQFw-asA| 1 | Ob HIRSHHLE
RE(4
5 7 <5 Mk RGWQP-T 1 Edl: RIBKIH+ERIR
RREHA: UEARARBBERHTAEEEESR, MERIMREAIEFRREK, HiRESSIIRER

SRR,

P76



NBEAELERRE

FLIFIUREE 3

i ==
I ZH S

J+ ¥ Bo
it Jlo FE

@©

VAL L
S EIYFES

. fL1EUR
. UR3/5/10/16/20%&%]|
. AJ1%23/28/36/48E %6,

23R BB HB/23 Configuration List

Fs FEmiafn Fmis | GEEHNE TEBHEERK
NO A Product - -
. product name model Quantity note
1 NBARE RG-PUR-23 3 HRE (MEHE)
2 Bt EE RGQ-23 2 BotEEk
3 EfEEIESR RGCP-23A 3 B+ 325+ Bk iEEe s
4 BliREIESZER RGHQ-23A 1 BElIESZZR+AE
5 7~ sHpRIEkIE RGWQP-T 1 TEH: RIBKIA-+ZERRIR

28 BCESH /28 Configuration List

FS AR Fmis | REESHE SERIFERRY
NO. product name Product Quantity note
model
1 HNEBAIRE RG-PUR-28 3 e (MEHE)
2 BhiE IR RGQ-28 2 PRk
3 EEEEZR RGCP-28A 4 EfiE+ 3258+ Bk & ES
4 BIlREIESZSR RGHQ-28A il BlIEsZ SR+ Bk SRR
5 7~ HhPIERTA RGWQP-T 1 e : PIBKIH-+ZERRIR
P77

@ eI )

36BC B FE /36 Configuration List

FsS [l T4 Fmils | REHE SEBFEERY
NO. product name Product Quantity note
model
1 NBAKRE RG-PUR-36 3 AE (FREHE)
2 B EERREX RGQ-36 2 FRiEEK
3 EfEEEZR RGCP-36A 4 Bt +32oR+ B & s
e 7 ] S HIRER R
4 | PIIRERSAREAM | RGQFW-36A 1 —
5 7<HHPIEREH RGWQP-T 1 TEH: PIBkIH-+ SRR

ASHCE ;5 E/48 Configuration List

FsS [ = Fmis | REHE SEBHFEER
NO. product name Product Quantity note
model
1 tEEARE RG-PUR-48 3 RE (TEHE)
2 BhiZEEEREX RGQ-48 2 BRiEEK
3 EfEEESZR RGCP-48A 4 Bt + 325+ Bk &R
B+ BlinER+ +
REUY
5 7<HHPIERIA RGWQP-T 1 Eh: PIEkIE-+ &SRR
R U EAKRARBEIERITERREELTR, TRERIRzAZRETHRE, BFREBSFKIRER
SHRAK;

P78



NEASEasRE @

IMASIASUNR EELB R

- VS
- 12885 : GCRARF
- IEHFE: A[1%23/28/36/48% %A

23BC B FE /23 Configuration List

FsS [ = Fmils |EREHE SEBHFEERY
NO. product name Product Quantity note
model
1 NB|ARE RG-PUR-23 3 RE (FREH=E)
2 PriEEEIREK RGQ-23 2 BhiEEK
3 EfEERESZR RGCP-23A 4 EfiE+ 3258+ Bk & Es
4 BUlmEIESZSR RGHQ-23A 1 EESZ5R+AIK
5 7~ HhPIEk$H RGWQP-T 1 e PERIH-+HZERRIR
28 B E S HE /28 Configuration List
FS AR Fmis |REHE SERIFERRK
NO. product name sl lRlel: Quantity note
model
1 NBAKRE RG-PUR-28 3 e (FREHE)
2 BRI EEREX RGQ-28 2 BhiEEK
3 EfEERESZR RGCP-28A 4 EfiE+ 3258+ Bk EHEs
4 BIlREIESZER RGHQ-28A 1 BlESZ SR+ Bk iERCES
5 7<HHPIER$A RGWQP-T 1 Eh]: PIEkIH-+ &SRR
P79

@ eI )

6B B FE /36 Configuration List

E2=) PR Fmis |EEHE T EBHFEERK
NO - Product - .
: product name model Quantity note
1 NBAKRE RG-PUR-36 3 RE (MEHE)
2 BotEEEIBEk RGQ-36 2 PRk
3 EfEERLE RGCP-36A 4 E i+ S22+ Bk & Es
e e _ XRBIRER + 7 keE+
4 BIIRERZREM | RGQFW-36A 1 A
5 7~ sHpIEkIE RGWQP-T 1 TEH: MIEKIE IR

ASHC E ;5 E/48 Configuration List

FS AR FmBs |REHE SERIFERRY
NO. product name Product Quantity note
model
1 NB|ARE RG-PUR-48 3 WRE (FREHE)
2 PriE R RGQ-48 2 BhiEEk
3 EEEESZSR RGCP-48A 4 B+ 2R+ B iEhcEs
+ | MWEMEREE RoOFw-asa| 1 [OF PIESLIIEE
5 7 Mgk RGWQP-T 1 TEH]: PIEkIH-+ERRIR

RITHMA: U EARERBETRITENEELR, TRRSFERIRETRE, HREB SERIER

SRR,

P30



NEASLaERE @ @ NEABLaS 26

ASEMZ07 8 5 75 5 AREMZO7TIEN G =

- HlLER A REA M - MBS mAE: AREA
- RS MZO7RT - FBEIE . MZ07RTY
- BHAER: AJE36/48E5%E - B ER: AJiR36/48E %8

36 E B /36 Configuration List

FS [T E=E ) Fmils |REHE TEPHFEERL
NO. |product name Pl Quantity note
model
\ 1 | MBAKE | RG-PUR-36 3 PE (&)
36 BEE;HFE /36 Configuration List 2 BHIEER RGQ-36 2 BHfEER
3 | EcBKEESZZR | RGHQ-36A 2 IR+ EKACEHCES
FS P oAt Fmis |REH=E TEMEERE 4 | BitEZIEEM | RGOFW-36A q -2 Eﬁﬁﬁ%ﬁfzﬁ# PERE . B
NO. | product name Pr:z)ddueclt Quantity note 5 | FKinsZ5RAEMH | RGMFW- 1 X%, KinEH , D&
6 PIEKIRZEE | RGWQP-D 1 EH: PIBKIA--EEIR
1 NEBARE | RG-PUR-36 3 RE
> | FBEEXLE | RGHQ-36A | 2 F8 - IRAERISE A8 & 758 /48 Configuration List
0 s o2 = an et s = aRHEE
3 | mikEEEM RGQFw-3eA| 1 | FURER . D& FS | FREMH ;:rlniﬁ RELE SERIEERY
SENVTE ELEf NO. | product name dI Quantity note
ks o - o Sl s, maoae
4 | FKimszZREAMH aRA 1 R, KiRER , P& 1 HIZEAZRE | RG-PUR-48 3 WS (78
5 SEhEERE RGQMX-T 1 BBl 2 BaEEk RGQ-48 2 BrytaEEk
3 | BEEREIRESZER | RGHQ-48A 2 ZER-+ERAEHDES
RASH: QLEMRARBIEL SREIIR, FRECEFITECORE, LRI 4 | BilsEmEE RGOFW-48A| 1 | N Eﬁﬁi‘iﬁ nikEE . R
’/ﬂn\ X 5 1
5 | FimZzZEHMHE | RGMFW- 1 R, KiRER , D&%
6 PIERIAZE(H RGWQP-D 1 El: PIEkIR IR

RIHA: UEARFERBESERITEREELAR, TREXFEAIRETHRE, HREBSSMFRER
P81 P82



NEASEESRE @

ABEMZ12f8 5 75 5

b 3

I 5f 56

muhE: AREA Ak
AE. MZ12Z7%
FE: A[%k36/48E %A

36 BLEFB /36 Configuration List

FS | Fmamn Fmils |EREHE SEBIFERRY

NO. | product name Pr:i)ddueclt Quantity note
1 MBARE | RG-PUR-36 3 IRE
2 | BEEKEIESZZR | RGHQ-36A 2 SZER+EKTEHCRR
N — N T ﬁﬁﬁﬁ‘aﬁﬁé PEE, B
4 | FKinSZERAMH RGM'I:\W‘ 1 2R, KinER , Pies
S s o E5 T RGQMX-T 1 18 FRhEYE i

ziiz: U EAERRBIERITERNEIRS R, TRRIFREAEEFHEREK, HRESFERER

P83

AREEMZ12]

b 2
I 5h Gl

WS S

mh#: ARE ANk
AE. MZ12Z&5
HER.: A[%k36/48E %A

@ NEABLaS 28

6B B FEH /36 Configuration List

FS iR Fmis |REHE SEBIFEER
NO. | product name Product Quantity note
model
1 NEBARE RG-PUR-36 S TREHE (IRESERMET)
2 PhiEEEIREX RGQ-36 2 fREHE
3 | WEKEERSER | RGHQ-36A 2 SZER+EKCERCER
4 | BUlmSZERAMH | RGQFW-36A 1 |ZR, EE, o4&, REMY
5 | FimszHRABMHE |RGMFW-36A 1 |ZR, EE, o4&, REMY
6 gEkRB RGWQP-D 1 EHIMIERT , EHEIR
ASHL E j§ 8 /48 Configuration List
FS PRt Fmis |(EREHE SERHERRL
NO. | product name Product Quantity note
model
1 EBARE RG-PUR-48 S EHE (IRIEERRETR)
2 BhiZEEEREX RGQ-48 2 REHE
3 | WEEEZR | RGHQ-48A 2 2R+ EELER
4 | BUlm3ZERAM |RGQFW-48A 1 |ZR., ERN, p&R, REMH
5 | Fimsz&RAMH |RGMFW-48A 1 |ZR., EFN, &R, REMH
6 PIBKRE G RGWQP-D 1 EHIRIERR , EHEIR
2?2;;;2 A EAFRRRBRERITTERREES R, TMRERIFEREREPRIRE, HRES S EFRER

P84



